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HISTORY (zfizm)

Instructions : The answer of Question No. I is compulsory having 2 marks for each objective
question. The candidate is required to answer two long type questions out of four
questions. Each carries 40 marks.
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I  Objective Questions (&S TeA) ‘ (2x10=20)

1.  The Harappan site most noticeably known for its dockyard is
(A) Mohenjo-daro (B) Ropar

(C) Rakhigarhi (D) Lothal

(A) WrETGS! B) A9
(C) T@rrgr (D) I
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3. Foundinlarge numbers, the coins, mostly made of silver and ascribed to the Mauryan R
N lmeS

are known as

() Karshapana (_B) Dinara
©) Dani (D) Nishka
ST g i TR g R, S SETAE FE % a9 3R i 4, SR RCE i —
ST €7
(A) SHETaw B) THR
€ D) s
3. Queen Didda, the regent and ruler in the 10th century CE, was associated with which part
of India?
(A) Odisha . (B) Bihar
(C) Kashmir (D) Rajasthan
T e, St 109 st § w Wi R e % 4R W <, I 969 9RT F
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A)  snfeam ®) TR
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4. Who among the following sultans in the Delhi Sultanate renamed Devagiri as Daulatabad?
(A)  Alauddin Khalji (B) Balban
(©) Muhammad-bin-Tughlaq (D) Firuz Shah Tughlaq
! e % Freaffien gt 4 @ it SRR a1 A ag ) e
A) FIHEA Raersht ®) el
©) Term-fa e D) FRS AT g
5. F 3 . - Kinodom?
rom the following travellers, identify the one who did not visit the Vijayanagara Kingdom:
) Abdul Razzaq icolo Conti
©) Nunig (B) Nicolo®
(D) Al-birunt
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Ccs
ME17 (1115 Contd.
‘

(¥ Scanned with OKEN Scanner



I e T ; 1 @

Marks

6. The Permanent Settle “the 1. =

. cttlement of the land revenues of Bengal under the colonial rule was made

(A) :;/:Z (B) 1793

(G L D) 1800

AN AT H e ¥ H-USTEE 1 it sigrered ford o fepam a7

Ay 1757 ®) 1793

(C) 1764 @) 1800
7. Which incident triggered Mahatma Gandhi to withdraw the Non-Cooperation Movement?

(A) Jallianwala Bagh Firing (B) Death of Lokmanya Tilak

(C) Chaun Chaura incident (D) Earthquake in Bihar

5 " & 9T HETAT e 7 SEed A F 9rag o feEn are
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©) =X IR @ ge ©) foer @1 g

Intervention of the Indian army leading to the breaking away of East Pakistan and emergence

" of Bangladesh as a new Nation-State happened in the year
(A) 1947 (B) 1965
©) 1999 D) 1971
w@aﬁw%maw%aaw@wmwﬁwﬁﬁmw&aﬁsaﬁm@m
T F T F AT {RE Y TATY
(A) 1947 B) 1965
(C) 1999 @) 1971

9. ‘Disum’ in Birsa Movement meant
(A) Munda land
(C) Europeans

ﬁwmﬁ‘%@’mmﬁaﬁm? |
() e (B) SWIGR 3R AEHR

©) e (D) Tk ST &1 A

(B) Landlords and Moneylenders
(D) name of a tribe
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10.  Sido and Kanhu were associated with which tribal revolt?

(A) The Kols (B) The Santhals

(C) The Bhils (D) The Gadkaris

Rl sk T fe ST FE ¥ T8 g7

(A) I B) T

©) ¥ (D) TEHe!
II. Long Type Questions (S I UIA) (40x2=80)

L. Give an account of the rise of Magadha as the most formidable ‘Mahajanapada’ around the
sixth century BCE.

A AT 0, F ATE-UTE TG F Fa ARBATCH eI % IR W I5d 6w
w1 Sgd W

2.  Discuss the main features of Indo-Islamic architecture, as it developed in Indian history.

Wﬁmﬁﬁ%@ﬁ—mmﬁ%&mﬁﬂﬁl

3.  Discuss the ways and means by which Mahatma Gandhi could transform the struggle for
Indian independence into a mass movement.

AT e gRI ST9TT MU 39 adel iR Wil & == ®e, 8 IS4 WRdE
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4. Assess the agrarian and political content of the Munda rebellion, led by Birsa Munda
%W%Wﬁﬁwﬁﬁ%ﬁmﬁﬁ—ﬁﬁﬁw-ﬁﬁﬁm
&
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I. Objective Questions (T TgA) (2x10=20)
1.  Benioff zone is related to

(A) divergent movement (B)  convergent movement

(C) conservative movement (D) None of these

AAE & B w2

(&) SRR T § ®) @R e @

©) Tl doem & | ©) T ¥ wE
2. Which is the Metamorphic rock among the following?

(A) Granite B) Quartzite

(©)  Granodiorite (D) Rhyolite

e # & =9 sumaka =zm 22

(A) T - ®) W

(C) IArEERTEe (D) =R
3. How many main industrial regions are there in India?

(A) Five ) S

(C) Seven (D) Eight

TR R W sienfi wew B

() ® =

©) ¥ (D) 36
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4.  Which Census year is known as

®
€) 1931

HIF-FT SV AN,

®?

(A) 1911 (B)
(©) 1931 D)

:l 1

(A) Western coastal off-shore area

®)
(C) Brahmaputra valley area

S Y)
Maryg
‘Big Divide’ or ‘Demographic Divide’ in India?
1921
1941

Wﬁq@ﬂﬁmﬁ’m‘Wﬁﬁﬁﬂﬁm’%wﬁwm

1921
1941

Which is the highest petroleum producing region in India?

Gujarat coastal area

(D) Eastern coastal area

ARG H HATIS Yo IqEH &5 hiA-91 § ?

(A) TiS=Hl IuaeE 8

®B)
() T Ul &= D)
6.  Which is the largest means of irrigation in India?
(A) Wells and tubewells B)
(C) Tanks ; D)
WA | 6= w1 9@ = 9 @ 20

(&) FU T AR (B)
(C) drere D)
7. Inroad network, India’s position in the world is
(A) first B)
(C) second D)

SH Uitaed oF #, fava § wra & @ 2
(A) ¥gH (B)
(© fedra D)
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8. How many Export Processing Zones (EPZs) are there in India? "
(A) Five B) Six
(€) Seven (D) Fight
W # fohaq Pt wieme oy 27
(A) T | ®
© 9= D) 33
9. After bifurcation of Bihar, which two tribeg Wwere merged in Jharkhand?
(A)  Gond and Baiga (B)  Binjhia and Bathudj
(C) Sabar and Hilg Kharia D) Malpahariya and Sabar
foer fowmsm % e, Wﬁ%éﬁm&ﬁaﬁqmﬁﬁwmﬁmm?
(A) g 3R S ®) fafeen ik aqd
©) AR R feat @l D) e et s ey
10.  Which river in Jharkhand belongs to northern drainage system?
(A) Kanhar (B) Brahmani
(C) Sakri (D)  Gumani
AREUS R A T v A 2
A) w7 ® et
©) uwh D) AR
'j Il Long Type Questions (¥rd Swéra wyw) (40x2=80

1.  Whatdo you mean by transform fault and spreading axis? How are these associated to sed
floor spreading and paleomagnetism? Explain.
ST i3 3R AR arer & A o g 30 T TS W Tl AR R e
| R7 amen Hifg
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Explain the problems of land utilization in India.

Wﬁ%ﬂﬁaqﬁﬁmaﬁwwaﬁﬁwmﬁﬁml

: uati adal growth of Tribal
Explain the population growth in Tharkhand. What is the situation of decadal g

ion in Jharkhand.
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